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MAEC-502
Macro Economics

¼lef"V vFkZ'kkL=½

M.A.Economics (MAEC-20)

1st Semester Examination June 2022

Time : 2 Hours Max. Marks : 80

Note : This Paper is of Eighty (80) marks divided into two (02)

Section A and B. Attempt the questions contained in

these sections according to the detailed instructions

given there in.

uksV% ;g iz’u i= vLlh ¼80½ vadksa dk gS tks nks ¼02½

[k.Mksa] d rFkk [k esa foHkkftr gSA izR;sd [k.M esa fn,

x, foLrr̀ funsZ’kksa ds vuqlkj gh iz’uksa dks gy djuk

gSA

Section-A/[k.M&d
(Long Answer-type questions) / ¼nh?kZ mRrjksa okys iz’u½

Note: Section ‘A’ contains Five (05) Long-answer type
questions of twenty (20) marks each. Learners are

required to answer any two (02) questions only.
(2 x 20 = 40)

P.T.O.
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uksV% [k.M ^d* esa ik¡¡p ¼05½ nh?kZ mRrjksa okys iz’u fn;s x;s

gSa] izR;sd iz’u ds fy;s ohl ¼20½ vad fu/kkZfjr gSaA

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mRrj

nsus gSA

Q.1. Clearly distinguish between average propensity to

consume and marginal propensity to consume and explain

the relationship between marginal propensity to Consume

and Income.

vkSlr miHkksx&izòfÙk rFkk lhekar miHkksx&izo`fÙk esa varj

Li"V dhft, vkSj lhekar miHkksx izo`fÙk dk vk; ls laca/k

le>k,A

Q.2 What do you understand by National Income? Explain its

concepts.

jk"Vªªh; vk; ls vki D;k le>rs gS bldh fofHkUu

vo/kkj.kkvksa dks le>k;s\

Q.3 "Trade cycle is a purely monetary Phenomenon."

Critically examines this statement of Hawtrey."

ÞO;kikj pØ ,d fo'kq) eSfnzd ?kVuk gSA ßgkVªªs ds bl dFku

dk vkykspukRed ijh{k.k dhft,\

P.T.O.
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Q.4 What is meant by induced investment? Explain the factors

affecting inducement to invest?

izsfjr fou;ksx ls D;k vfHkizk; gS\ fofu;ksx dks izsfjr djus

okys dkjdksa dh O;k[;k dhft,\

Q.5 What is multiplier? How does it work? Mention its

limitations?

xq.kd D;k gS\ ;g dSals dk;Z djrk gS\ bldh lhek,¡¡

crkb;s\

Section-B/[k.M&[k

(Short Answer-type questions) / ¼y?kq mRrjksa okys iz’u½

Note: Section ‘B’ contains Eight (08) Short-answer type

questions of Ten (10) marks each. Learners are

required to answer any four (04) questions.

(4 x 10 = 40)

uksV% [k.M ^[k* esa vkB ¼08½ y?kq mRrjksa okys iz’u fn;s x;s

gSa] izR;sd iz’u ds fy;s nl ¼10½ vad fu/kkZfjr gSaA

f’k{kkfFkZ;ksa dks buesa ls dsoy Pkkj ¼04½ iz’uksa ds mRrj

nsus gSA
Q.1 Describe the essential characteristics of business cycle?

O;kikj pØ dh eq[; fo'ks"krk;s crkb;s\

P.T.O.
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Q.2 Explain the factors affecting propensity to consume?

miHkksx izof̀Ùk dks izHkkfor djus okys rRoksa dh foospuk
dhft,\

Q.3 Explain the factors affecting the Marginal Efficiency of

capital?

iwath dh lhekar mRikndrk dks fu/kkZfjr djus okys rRoksa dh
O;k[;k dhft,\

Q.4 What is Macro Dynamics?

lef"V izkoSfxd D;k gS\

Q.5 Explain the methods to calculate the gross National

Product and Net National Product (GNP and NNP)?

ldy jk"Vªh; mRikn ,ao 'kq) jk"Vªªh; mRikn dh x.kuk dh
fof/k;ksa dks crkb;s\

Q.6 Shortly explain the classical theory of Employment?

jkstxkj ds izfrf"Br fl)kar dh la{ksi esa O;k[;k dhft,\

Q.7 According to Keynesian, What are the main determinants
of Income and employment in an Economy?

dhUl ds vuqlkj ,d vFkZO;oLFkk esa vk; ,ao jkstxkj ds eq[;
fu/kkZjd rRo dkSu&dkSu ls gS\

Q.8 Explain the relation between National Income and

Economic Welfare?

jk"Vªh; vk; rFkk vkfFkZd dY;k.k esa laca/k crkb;s\
..........................


